
MOTOR : GRUPO ARBOL DE LEVAS	
 

GRUPO ARBOL DE LEVAS 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 
Ref. Título Código

1 TUERCA AJUSTE VALVULA 116-5403-I006

2 TORNILLO AJUSTE VALVULA 116-5404-I006

3 BALANCIN ARBOL DE LEVAS 116-540A-I006

4 SEGURO SEMI CONO 116-5707-I008

5 PLATILLO RESORTE 116-5705-I006

6 RESORTE VALVULA EXTERIOR 116-5710-I006

7 RETEN DE VALVULA 116-572B-I008

8 ARANDELA INFERIOR RESORTE VALVULA 116-5708-I008

9 ARANDELA SUPERIOR RESORTE VALVULA 116-5706-I008

10 VALVULA DE ADMICION 116-5702-LA01

11 VALVULA DE ESCAPE 116-5701-LA01

12 GUIA CADENA DE DISTRIBUCION 116-553A-LA74

13 ENGRANAJE PUESTA A PUNTO 116-5301-L044

14 TORNILLO M6 X 20 116-57830006

15 CADENA DE DISTRIBUCION 116-532B-LA74

16 TENSOR CADENA DE DISTRIBUCION 116-552A-LA74

17 ARANDELA 8,5 X 1,5 X 14 116-3301-7085

18 TORNILLO 116-1109-I006

19 JUNTA 116-0211-I049

20 TENSIONADOR 116-554B-I049

21 TORNILLO M6 X 16 116-700106

22 O-RING 9 X 1,8 116-0101-2009

                        1 / 2

https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/grupo arbol de levas9.png


MOTOR : GRUPO ARBOL DE LEVAS	
 

Ref. Título Código

23 TORNILLO 116-1120-I006

24 EJE BALANCIN ARBOL DE LEVAS 116-5402-L044

25 ARBOL DE LEVAS 116-5100-L044

26 TUERCA M8 116-1201-I006

27 TORNILLO M6 X 16 116-8190106

28 SOPORTE GUIA CADENA 116-143B-L044

29 TORNILLO M6 X 16 116-166740006

30 EJE BALANCIN ARBOL DE LEVAS 116-5402-L044

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

